<

T RERF RS
XiaMen Jinen Plastic CO.,LTD.

i 'g |
| ,gl

==
2
o

TR ERA RS
XiaMen Jinen Plastic CO.,LTD.

Add:No.9 Guangxing South Road, Xinglin,

Jimei District, Xiamen City ﬂ,..,&
Tel : +86-592-6287386 A
Fax :+86-592-6285039 , . ; o S |

Email: info@jinjiekun.com Two Fusion Management System Certification(Industry 4.0)



f&ﬁ?

ENEREZRAERARMILT2001E (FMIFARITEERRZHRAAE) ,
FEWF B M. BRERMNEFREHE; A€M, BTraiErR
HigE. REashsimmTI T ZB8REM4TH.

ENER2RATENHTERALRX, EEREFF20EEEN. HFEH.

Z IR R ERBURERIZ & . [ BERT500F7K, AEEFREHEAKFRY
BEEFRERAELEEFEROKAAR, BEFEFE80007 ARTRIESREN .
ERRREOLUE, —EU “REE—. HEHTS. EENA. FAFER” 1E
ANFMRSEERE: U “HE. BE. B, #I” HEEEIMRT —E
Bk, RFEWU “CIZMRRIE, BREEFRE” HESER, #$XEARINNT
BHHBE, KU “SBRAER. TEMRS” RRDEREK, LWAEIARESEE
Bfs—HE#D.

Xiamen king plastic Co., LTD. Was established in 2001 (formerly known as xiamen king trade
Co., LTD.), Main business is plastic products, plastic mold production and marketing; Hardware
products, electronic products and the production Its sales. Are sports equipment of the main
plastic accessories industry manufacturers.

Xiamen king located in xiamen plastic following development zone, the main equipments are
20 Taiwan plastic injection molding machine, crowded, A variety of precision mould opening
equipment and spray paint printing equipment. The workshop area 7500 square meters, has
reached the international advanced level Precision production equipment and equipped with
the recruitment of technical personnel, with 80 million RMB and production of production
capacity. Kinen company since its inception, has been to the "quality first, continuous
improvement, respect individual, team spirit"For the company's top management objective;
To "respect, dignity, unity and progress" of the management concept and staff together Growth.
The future will also to "build quality brand, satisfying the needs of the customers" as the guiding
ideology, in view of the domestic and foreign city Field needs, will take "excellent quality,
perfect service" meet the challenge actively, in order to achieve the company top management
Goal-to continued progress.

Our Equipment:

Specification of Injection Equipment QTyY Specification of Mould Equipment QTY
HUAMEI Injection Machine - 80T 3 CNC Machining Center 850 2
HUAMEI Injection Machine - 128T 5 CNC Machining Center 1350 1
HUAMEI Injection Machine - 168T 3 Carving Machine 650 1
HUAMEI Injection Machine - 218T 1 BEISUTE Electric Spark Machine 450 3
LANGGE Injection Machine - 250T 2 BEISUTE Electric Spark Machine 850 1
HUAMEI Injection Machine - 450T 2 YAPU 3# Milling Machine 3
HUAMEI Injection Machine - 450T 1 Shanghai XINDAO Grinding Machine 618 2
LANGGE Injection Machine - 500T 2 Shanghai TIANZHEN Wire Cutting 7740 2
LANGGE Injection Machine - 650T 1 Radial Drilling Machine 1
Spary Painting and Printing Assembly Line 2 Small Drilling Machine 2

WAk A R SIS

QUALITY MARAGEMENT 53571
CHRTBCATION CRRTIN AT
NiEMen Jimen Plastie €1

L
.....

ta - &
i i Mt Syl ol o b e amind
pRs——

ettt S
» (T a1 A .

CONTENTS

Tension Control Fatigue
Life Test

8 B B e S Tension Control Series
0 Pulley/Wheel/ldler Series
QF =108 o ccinvisiaisommsmeinmssemmmsasasias Pull Pin and Plug Pin Series
S e s s e Konb and Adjustment Foot Pad Series
1 ) it o S O o e Gasket and Cushion Series
N6 =23 it s srins i donasis s seds End Cap and Outer Cap Series
DUl T, o v oieimessinssmominemses Foot Bushing and Foot Pad Series
P A H o s e PP T P T Inter-pipe Bushings Series
B0 = 3T e e Foot Pedal Series
< DI S S Belt Pulley Series
L M e e e e Bushing Series
B e ey o e R B A B B T H O Cover Series
L s s s s e s Other Accessories Series
e Spacewalk Machine Series
L L T Abdominal Device 1 Series
50 =50 .ooeeereereriirinrerer s anaanannas Abdominal Device 2 Series
L B b e Vertical Abdominal and Trampoline Series
D2 =02 .oeroerernnsesrnsnaresserszssssass MI-BIKE and Leg Machine Series
o e e e e e e e e Stepper Series
e X-BIKE Series
ST =58 ...coresssvusssnssmssnrnssnsaassrraascrsassenansenns Spinning Bike Series
D R R T Elliptical Tranier Series
B3 = B85 .o Upright Bike Series
B6=186 Iron Wheel Air Elliptical Trainer Series
B7 = B7 oo 8.2 Air Elliptical Trainer Series
BB = BB i dosevasaess s e Comprehensive Trainer Series




Tension Control Series

9 o

WTO001: 5 Grade Tension Control WTO001: 5 Grade Tension Control WT001: 8 Grade Tension Control
5 grade isometric side display, stroke 16 5 grade isometric positive display, stroke 16 1 short 8 long, with 48*36mm square hole, stroke 21
WTO001: 8 Grade Tension Control WTO001: 8 Grade Tension Control WTO001: 8 Grade Tension Control
1 long 8 short, with 48*27mm square hole, stroke 21 7 and 8 grade is disconnected, stroke 21 side grade display, stroke 21
WT001: 8 Grade Tension Control WTO001: 8 Grade Tension Control WTO001: 8 Grade Tension Control
ultra-thin top side display big plum blossom type top, JES75 with window positive display
WTO001: 8 Grade Tension Control WTO001: 8 Grade Tension Control WTO001: 10 Grade Tension Control
reverse side display reverse side display, JEG08 1 and 2 grade is disconnected,stroke 21

WTO001: 10 Grade Tension Control WT100: 802 Tension Control WT100: 802 Tension Control

10 grade, 2 and 3 grade is disconnected stroke 21 middle thin rod, side grade display middle thin rod, reverse display

WT100: 802 Tension Control
middle thin rod, with 50 circle pipe

WT100: 802 Tension Control WT100: 802 Tension Control
middle thin rod, with 60 circle pipe middle thin rod, with 48x35 square pipe hole

01
ENsR@RERLE

@ —
K.Y

Tension Control Series

WT200: 8 Grade Tension Control WT200: 8 Grade Tension Control WT200: Two Wire Tension Control

8 grade isometric positive display, stroke 16 positive transparent display, stroke 21 2 lines,input wire and output wire, grade can choose

WT200: 16 Grade Tension Control WT300: Continuously Tension Control WT300: Continuously Tension Control
16grade, stroke 21 use for air elliptical trainer, with belt and spring “+ short - long” forward, stroke18

WT300: Continuously Tension Control WT300: Continuously Tension Control WT300: Continuously Tension Control
“+ long - short” reverse, stroke21 big triangle arc, base JES78 big triangle with upward hook, base JE576

WT300: Continuously Tension Control WT300: Continuously Tension Control ~ WT300: Continuously Tension Control
big triangle with down hook, base JE598 with 50 circle pipe, upward hook, base JES84  with arc square pipe, down hook, base JE528

WT300: Continuously Tension Control WT300: Continuously Tension Control ~ WT300: Continuously Tension Control

small square type, stroke 21, base JE681 lean triangle down hook, baseJE582 32W, with arc pipe, upward hook, base JEG96
"8 ;'.- -\'._ / F -.\'.
WT300: Continuously Tension Control WT300: Continuously Tension Control WT300: Continuously Tension Control
with @50 circle pipe, upward hook, with hole 32W, with circle pipe, upward hook, arc, with 36x62 ellipse pipe, upward hook,
in two side, base JEBST7 base JEE98 base JEE99

02

XiaMen Jinen Plastic CO.,LTD.



Tension Control Series

RelE 3

B
W/

WT300 Optional Continuously TQHSION WT300: Optional Continuously Tension ~ WT300: Optional Continuously Tension
Control Knob Control Knob Control Knob
plum blossom type, JEGBO

big plum blossom type, JE368 circle type, JE525

¥2e | oF;

WT300: Optional Continuously Tension ~ WT300: Optional Continuously Tension
Control Knob Control Knob
Mushroom type, JEG93 big plum blossom type, JEES4

WT500: Small 8 Grade Tension Control WT500: Small 8 Grade Tension Control
side display 8 grade, stroke 21 with 48x31 square hole, stroke 21 8 grade isometric positive display, stroke 16

“p 9%

WT500: Small 8 Grade Tension Control WT500: Small 10 Grade Tension Control  WT500: Small 16 Grade Tension Control
with 38 circle pipe 10 grade , stroke 21 16 grade , stroke 21

ér %

WT600: 8 Grade Assembly Type WT600: 10 Grade Assembly Type
Tension Control Tension Control
disa\ssemblyr and assembly type , stroke 21 dlsassembly and assembly type , stroke 21

REEIELS

WT700: Knife Tension Control
straighten pull 8grade, stroke 26

WT400: Circle Ball Tension Control
10 grade, stroke 25

WT450: Cylinder Tension Control

WT650: Big Cylinder Tension Control
side display 10 grade , stroke 20

WT750: Knife Tension Control
optional 8 grade to 10 grade

WT750: Hindrance Tension Control
with 22 circle pipe, stroke 25

03
ENsR@RERLE

WT800: 8 Grade Tension Control
softness and colorful, stroke 21

e

Kinds of Internal Magnetron Wire
with elbow, wire length can be customized

Tension Control Series

J

WT800: 8 Grade Tension Control Motor Wire

can choose the main part color, both head type and wire length can be customized

softness, black

WTO0O01: 5 Grade Tension Control

5 grade isometric side display, stroke8

TV

nn

Spinning Bike Brake
can choose the brake pad

WT900: Electronic Display Tension Control

time/heat/frequency/distance

Patent: ZL201621112230.8

Kinds of Outernal Magnetron Wire
type and wire length can be customized

8] |

WT512: Big 8 Grade Tension Control
Pipe Clamp
with 50 circle pipe

o

B ot

WT513: Big 8 Grade Tension Control Pipe  WT523: Small 8 Grade Tension Control
Clamp Pipe Clamp
with 60 circle pipe with 38 circle pipe

107

WT524: Big 8 Grade Tension Control -

Pipe Clamp
with 40x80 ellipse pipe

o

oo =

Pipe Clamp Pipe Clamp
with 30x80 ellipse pipe

0o oo

with 38 square pipe

WT596 Small 8 Grade Tension Control
Pipe Clamp
with 25x50 ellipse pipe

WT643: Big 8 Grade Tension Control WT524 Small 8 Grade Tension Control
Pipe Clamp Pipe Clamp

with 40x80 ellipse pipe with 30x60 ellipse pipe 04

WT574: Big 8 Grade Tension Control WT577: Small 8 Grade Tension Control
XiaMen Jinen Plastic CO.,LTD.



Pulley/Wheel/ldler Series

\ "

JE0O05: 50 Nylon Wheel

JEOO8: 3 Inch Movable Casters
875, with/without brake

JE003: 50 Iron Frame Nylon Wheel
050, with/without brake 050, with/without brake

e %

JE009: PU Wheel(With Bearing) JE298: PU Wheel JEO11: Wheel
@34x6x12, with 626 bearing p43%x11Hx21H 2100x8x%22, with 2pcs 608 bearing

Ng 9¢ e @

JEO12: Idler Pulley(Briquetting Pulley) JEO14: Moving Wheel(Wine Barrel Wheel) JEO15: Transport Wheel(42 Moving Wheel)
243x35.5%25 with 1 or 2pcs 6000 bearing @22x6.5%a30L @42x8.3x22

JEO16: 45 Moving Wheel JEO17: 50 Moving Wheel JE018: 50 Nylon Wheel
045%8.2x21 050%8.5%021 050%8.5 or 6.5%024

‘e $

JEOT19: Moving Wheel JE020: Small Wheel JE021: 45 Small Wheel
@61x8.5%25 @30 245x8.5%68L

JE022: Foot Pedal Pulley JE023: 38 Small Pulley JE024: Pulley Component
©28.5%022x35L 038%6.5%015 ©90x11x23, with 1 pes 6202 bearing and
05 plastic cover

ENERERERLE

Pulley/Wheel/ldler Series

JE025: Powder Metallurgy Pulley JE026: 100 Pulley JE028: 38 Transport Wheel

©100x9.8%x22, powder axle p10x22L @100=8.5%20, 16 rib @38xe8.2x22T

JE305: 25 Small Pulley JE348: 50 Moving Wheel JE360: 70 PU Wheel

225%07.2%9H 050%06x21.5H ©70%23H, with 608 bearing
JE425: 60 Wheel JE435: Idler Pulley JE438: 652 Idler Pulley
260x30H @40x25H, with 1 or 2 pcs 6000 bearing 36x15H, with 1 pcs 6200 bearing

14

-
. — & N W

JE435: |dler Pulley JE468: 046 X 146 Wheel JE469: 042 X 30 Wheel JE479: Wheel
035%19H, with 2 pcs 608 bearing 046x022%146L 042%010.8x30L 255%30
JE616: Pulley 2 JE617: Pulley 1 JE750: Big Wheel
©24.3x14.5L 924.3x37L, ABS+PU 028x011.5x20
JE751: Small Wheel JE752:75 Pulley JE753: Pulley Cover
220%06.5x13 075 285

06

XiaMen Jinen Plastic CO.,LTD.



Pull Pin and Plug Pin Series

I.f'f_ = "\\I Ir'/" "‘\_‘I j / = ""\\I
N 2 N 7% ¥y
JE039: 26 Ball Head JE040: 28 Ball Head JE041: 32 Ball Head
@26, can customize M6 or M8 nut @28, can customize M6 or M8 nut @32, can customize M8 or M10 nut
. Ve N [ N

4.
| |
. A e AN J
JE042: M12 Circle Ball Pull Pin JE043: 28 X M16 Circle Ball Pull Pin JE044: 26 X 16M Circle Ball Pull Pin
hexagon opposite 12x20L, e8x12 M16xlength can be customized, @10x169L M16xlength can be customized,
rob can be customized @8 or 29
e ) N N
\ . ] ]
p o . e
JE045: M20 Circle Ball Pull Pin JE046: 8MM Circle Ball Plug Pin JE047: 10MM Circle Ball Plug Pin
M20%17J, @9.5%100L 8MM rob, length can be customized 10MM rob, length can be customized
can customize sigle bead or double bead
N 7 ™~ 7 B
f ] V| A
\ .I \ /
N ¢ . e
JE048: 37 Elastic Pin JE049: 57 Elastic Pin JE049-1: 25 Weld Nut
37xM18, length can be customized 57xM186, length can be customized @25%x10.2HxM16, step @19%1.5
07
EN&BERARLE

Pull Pin and Plug Pin Series

.-’/- N r N i - R\
N __/'I N = I'\_ _/’;
JE050: M18 Elastic Pin JE051: 37 Elastic Pin JE052: Flat Head Plug Pin
57xM18, length can be customized 37=xM16, can rotate and locate rob and screw can be customized
4 LT V4
—
. AN PAN B
JEO053: L Type Elastic Pull Pin JEO54: Bull Head Elastic Pull Pin JE054-1: Pull Pin Teeth Bushing
inter iron teeth, rob can be customesized M20x17L, @9.8x68L ©25%43L, M16x18L, step ©23.5%1.2
( Y4 N ™
I\\.___ P74 / \\.‘_ y 4 \‘\_“_ /-’JI
JE056: 50 Armrest Adjustment Knob JE407: Circle Pulg Pin JE463: T Type Pulg Pin
@50, M16x45, 8. 5MM rob in the middle or customize 230x10MM rob x length can be customized ©12x84, auger p8x10, M6
.r/ "“\\I r'/ “\\I .r'/ N
I.\\« //I I\" //I I\\ /JII

JE663: Special Pull Pin
237,M16%85

JE625: Plum Blossom Knob
@9.7x16xM8x 16 chamfer + labeling

JE736: Circle Ball Pull Pin

double color, M16 screw rob

08

XiaMen Jinen Plastic CO,,LTD.



Knob and Adjustment Foot Pad Series

=
F_
oyt

JEO57: M6 Knob JE058: M6 Back Support Knob
@16xM6 length can be customsized 830xM6 length can be customsized

oo T %0

JE060: 30 Adjustment Foot Pad JE061: 42Adjustment Foot Pad JE062: 40 Adjustment Foot Pad
©30%M8 or 5/16,length can be customsized 042x210.5%12H,can customsize M8-M12 screw @40xM8 or M10,length can be customsized

JE063: 50 Adjustment Foot Pad JE064: M8 Plum Blossom Screw Nut JE064-1: M8 Plum blossom Screw Nut
@50=xM8 or 5/16 @38xM8 full hole 238xM8 though hole

JE066: 60 Plum Blossom Knob

JE065: 48 Plum Blossom Knob JE065-1: 48 Plum Blossom Knob

248x220xM8 or M10 length can be customsized @48x@20,can customsize M8 or M10 nut  @60x@24, polish,can customsize M8 to M12 screw

JE059: 28 Adjustment Foot Pad
©28x5/16,length can be customsized

JE066-1: 60 Plum Blossom Screw Nut JE067: 60 Plum Blossom Knob JE067-1: 60 Plum Blossom Screw Nut
260x024 polish,can customsize M8 or M10 nut 060%e24,grained leather,can customsize 060%e24, grained leather,can customsize
M8 to M12 screw M8 to M12 nut
09
EN&BYRERLE

Knob and Adjustment Foot Pad Series

@ %oy

JE068: 58 Plum Blossom Knob JE069: 58 Plum Blossom Knob JEO70: 58 Plum Blossom Knob
©58x020, with “+&-" mark,can customsize 58%023,.can customsize M8 to M16 screw ©58x023,with "+&-" mark,can customsize
M8 to M16 screw M8 to M16 screw

o ¢

JEO71: BIKE Knob JEO72: 50 Plum Blossom Knob JEO73: 42 Plum Blossom Knob

@60x218, though hole without nut 250xp21,can customsize M8 to M10 screw o42xe16,can customsize M8 to M10 screw

o ¢ @

JEO074: 37 Plum Blossom Knob JEO75: 60 Plum Blossom Knob JE075-1: 60 Plum Blossom Knob
2@37=216 M8 screw or nut p60=224 M8 nut @60x@24 M10 nut

JE 076: 38 Plum Blossom Knob JEO77: M8 Knob Cap JEO77-1: M10 Knob Cap
@38=M8 screw 240xM8 nut 240xM10 nut

JEO79: Small Triangle Knob
M8, length can be customsized

JEO080: Triangle Knob

248x@17 can customsize M8 to M16 screw

JE078: Mushroom Head Knob
@49xg13, M8 nut or M8 to M10 Screw

10

XiaMen Jinen Plastic CO.,LTD.



Knob and Adjustment Foot Pad Series

e vk &

JE080-1: Triangle Screw Knob JE081:L Type Knob JE082: Heart Type Knob
M& or M10 nut Screw can be customsized M8 to M16 screw and length can be customsized

F

™

JE083: Slotted Knob JE084: New Slotted Knob JE085: 50 Combination Knob

M8 screw can customsize M8 nut or screw Hardware can be customsized

TT QO

JE086: Brake Handle JEO87:Bull Head Pull Head
240xMBxME screw with M8 to M10 nut

JEO088: 60 Adjustment Foot Pad

@60x15.6H, can customsize M8 to M12 screw

JE248: 32 Adjustment Foot Pad JE257: M6 X 25 Foot Pad JE258: 5/16 X 16 Small Foot Pad
832, hexagon opposite 13mm, 237x532x29H 023%220%6.4H

can customsize M8 to M12 or English screw

\.

JE259: 26 Adjustment Foot Pad JE260: 25 Adjustment Foot Pad JE261: 35 Adjustment Foot Pad
826.8%16H,hexagon opposite 13mm, ©26%15.5H hexagon opposite 13mm, ©35%19H,hexagon opposite 13mm,
can customsize M8 or English screw can customsize M8 or English screw can customsize M8 or English screw
1
ENERuRERLE

Knob and Adjustment Foot Pad Series

262 32 Adiustment Foot Fad JE263: Small Slotted Knob JE270:45 Plum Blossom Knob
M6.M8 ‘and 1/4 screw @25x10,can customsize M5 or M6 screw @45, can customsize M8 or M10 screw
JE271: T Type Knob JE275: 57 Plum Blossom Knob JE276: 58 Plum Blossom Screw Nut
78x025.4, can customsize M8 or M10 screw ©57,M16 screw,length can be customsized ©58,M8x15 nut
JE345: 48 Plum Blossom Knob JE366: Double Color Brake Handle Knob JE471: M6 Knob Cap
@48x215.5 can customsize M6 or M8 screw 245x49H M8 nut ©25M6 nut

JE418: M6 Small Triangle Knob JE426: 28 Adjustment Foot Pad JE427: Adjustment Foot Pad
MEx25 ©28x9H 230x10H, 3/8 tooth

| Va0 o4

JE433: 34 Adjustment Foot Pad JE434: 60 Plum Blossom Knob JE561: 49 Adjustment Foot Pad
034 260, M12x70 249%22H M10%26

& rod &% 5%

JE038: 52 Adjustment Foot Pad JE336: M6 Plastic Screw  JE337: M6 Small M Shape Knob  JE462: M8 Pull Board End Cap
@52=e17H, M10=30 ©15.5, M6*10 29x11,with M6 or M5 screw 240%19.5,with M8x15 nut

12

XiaMen Jinen Plastic CO.,LTD.



Gasket and Cushion Series

JE089:24X8.5X2 Gasket JE090: 24X 8.5 X 4 Gasket

824x2Thinck ©24x4Thinck
Inter diameter: @ 8.5810.5 and 12,5 Inter diameter: 88.5,610.5 and 812.5

JE092: 22 Washers with Split

JE093: Plastic Washer
222%p8.3%1.5T ©20%@8.5%2T

00 OO0

JE095: Plastic Gasket JEQ97: Plastic Gasket
231.8xp19x2T e57*x@37x2

JE099: Square Cushion JE100: 18X 7.5 Small Foot Pad
20x20x4.5 218x@4x7.5

*9 0

JE102: 32X 16 Flat Cushion JE103:31.8X1.5 Cushion
234x%p32x08.5x%16H 231.8x06.5%15

13
ENERERERLHE

L O

JE091: 24X 8.5 X 4 Gasket

824x5Thinck
Inter diameter: 8.5 810.5 and 812.5

O
OO

JE094: Plastic Washer
©13%26.3%0.5T

OO
OO0

JE471: 60 Nylon Gastet
@60x210.5%1T or 2.5T

ot

JE101: 20X 20 Cushion
220%04.5%20H

JE104: 38 X R35 Cushion
2835x@16%38

Gasket and Cushion Series

JE106: 25.4 X 14 Cushion

JE105: Non-slip Cushion

JE098: Big Cushion
031%@21%29 025%@8.2x14.5 p32xpBxR20

JE107: Small Foot Pad JE108: 22X 16 R Angle Cushion JE219: 58 Shock Absorber(Long)
023%@17%04.5%15 022x016x%04x20 225.4x%50L

o0 °° 0O

JE245: Long Casing JE250: 32 Cushion JE267:30X12.5%X2 Gasket
218.8xp8x19H 832x@18=p6.5*15 030xp12.5%2

o o —

JE268: 30X 12.5% 13 Cushion JE269: 25X 13X 1.2 Gasket JE293: Double Holes Gasket
230%012.5%13H 025%xp13%1.2 38x18x2T

P 7~ & -
' 4

JE307: 22X 10X 2 Gasket JE357: 16 X 10 Plastic Gasket JE392: Arc Gasket
022X010.5X 2T, 216xe10x3H ©33.5%216.2%3.5
inter diameter: 08.5 or 10.5

14

XiaMen Jinen Plastic CO.,LTD.



Gasket and Cushion Series

/\ a8 ,./_\"

JE395:22 Plastic Gasket JE396: 24 Plastic Gasket
2 22xa@10.5 x1 024xp8.5%1.5

0o

JEA405: Plastic Gasket
220xp15%3

o0

JE406: 36 Plastic Gasket

JE568: Grade Place Pad

036%x@17%2.5 027*x023%04.7%16
JE573: Grade Place Pad JE618:Cushion
p16xp4. 5x14 o24x26L

ole,
ole

JE643: Plastic Spacer

JE667: Plastic Gasket
2833x@25.7x4.5 024xp8.5%4.7

JE704: Plastic Gasket
025%516%1

15
ENER@RERLHE

JE569: Circle Type Foot Pad
225%xe5xR15x20H

JE621: Plastic Washer
228x4.0T

e

JE669: Cushion
PVC 95 degree

JE109: Iron Wire Cap
@35\e4.5\07

' X

JE112: Bullet Cap
withe 16 circle pipe

JE115: 22 Circle End Cap
with 22.1 circle pipe

JE118: 25.4 Circle End Cap

arc surface

JE120: Crank Cap
025

End Cap and Outer Cap Series

8 08 0O

JE110: 612 X 04 Wire Cap JE111: Ellipse Wire Cap
014.5%012x04x12 26%21%11.5

JE114: 19 Ball Head Cap

JE113:19 Circle End Cap
with @19 circle pipe

with @19 circle pipe
. . ‘
JE117: 25 Plastic Circle

JE116: 25.4 Circle End Cap
a hole in the middle 08.5 025%022%5.6

JE118-2: 25.4 Circle End Cap JE119: T Cap Plug
flat @8x7

<~ 90
g

JE121: Tension Control Wire Cap JE122: 16 Wire Cap
010.5%07%02.5%17 216%05.2

16

XiaMen Jinen Plastic CO.,LTD.



End Cap and Outer Cap Series

"LAK L BN T

JE123:28.6 Circle End Cap
with @ 28.6 circle pipe

JE126: 38.1 Circle End Cap
with 38.1 x1.2T pipe

& 4

JE129: 20*40 Square End Cap
with 20x40 square pipe

£ 4

JE132: 25X 50 Square End Cap
with 25%50 square pipe

JE134: 30 X60 Square End Cap

with 3060 square pipe, with gap in the middle

17
ENERERERLE

JE124: 32 Circle End Cap
with @31.8 circle pipe

.o

JE127: 50 Circle End Cap

with @50 circle pipe

JE130: 25X 25 Square End Cap
with 2525 square pipe

£ 4

JE132-1:50.8 X 25.4 Square End Cap
with 25.4x50.8 square pipe

I=

JE134-1:30X60 Square End Cap
with 30x60 square pipe, with gap in two sides

JE125: 38 Circle End Cap
with 38.1x1.5-2.0T pipe

mm -
gl L

JE128: 15X 30 Square End Cap
with 15x30 square pipe

£ 4

JE131: 25X 40 Square End Cap
with 25x40 square pipe

[ )

JE133:30X30 Square End Cap
with 30x30%1.5T

JE135: 38X 38 Square End Cap
with 38x38 square pipe

End Cap and Outer Cap Series

28 S0 mn

JE136: 38X 38 Lean Square Cap JE137: 40X 80 Square End Cap JE138: 50 X50Square End Cap
with 38x38 Lean square pipe with 40x80 square pipe with 50x50 square pipe

JE139: 50%70 Square End Cap JE140: 30X 60 Ellipse Cap JE140-1: 30X 60 Ellipse Cap
with 5070 square pipe with 30x60x1.5T ellipse pipe with 30x60x2T ellipse pipe

' ‘ |

|

; 7 |
JE141: 40X 80 Ellipse Cap JE142:20X40 Lean End Cap JE143: Circle Pipe End Cap
with 40x80 ellipse pipe with 20=40 square pipe 240,with 822 or @25 pipe

m= A*® 90

JE144; Ellipse Pipe End Cap JE145:30% 60 Cyclocomputer Holder JE146: 50 Cyclocomputer Holder
with 20x60 ellipse pipe with 30x60 ellipse pipe with 50 circle pipe

JE147: 60 Cyclocomputer Holder JE148: Crank Cover JE149: 50.8 Foot Pipe End Cap
with 60x60 square pipe 022, 19%6 with 50.8 circle pipe

18

XiaMen Jinen Plastic CO.,LTD.



End Cap and Outer Cap Series

JE150: 32 Opening Foot Pad JE151: 38 Semicircle Foot Pad JE152; 25 Clrcle Pipe Outer Cap
With 25 or 32 circle pipe 050x03827, with 38 circle pipe with 025.4x25L, with 25 circle pipe

JE153: 38 Circle Pipe Puter Cap JE160: Foot Pedal Cap JE161: M8 Screw Cap
with 38.1 circle pipe with 20x20xg12x26L opposite 16-17mm
JE162: M8 Screw Cap JE162-1: M8 Screw Cap JE163: M10 Screw Cap
opposite 13-14mm opposite 12-13mm opposite 18-19mm
JE219: Shock Absorber (Long) JE247: 50 Circlr Pipe Opening Foot Bushing JE274: 20 X 40 Ellipse End Cap
225.4x50L @50x50H single level double opening with 20=40 ellipse pipe
JE281: 47 End Cap JE282: 47 Bearimg Cover JE285: 15X 30 Ellipse Foot Cap
247xp10x12H a51xp35%a47 40x24Hx=34L,15x%30 ellipse pipe

19
ENER@RERLE

End Cap and Outer Cap Series

-1 o

JE289: 76 Circle End Cap JE295: 13X 26 Square End Cap JE296: 28.6 Semicircular Ball Cap
with 786 circle pipe with 13x26 square pipe with 28.6 pipe
=
! . -
JE297: 31.8 Semicircular Ball Cap JE317:20 %60 Ellipse End Cap JE321:50.8 Digital Watch Holder
with 31.8 pipe with 20x60x1.5T ellipse pipe with 50.8 circle pipe
JE322: 9MM Limit Cap JE323: Outer Cap with Hole JE324:60% 60 Square End Cap
a9%a8MM 250.8, 055%p26%x20H with 60x60 square pipe
JE325: 20 X 40 Square End Cap(with Hole) JE326: 53.5X23.5 Square End Cap JE326-1:53.5X23.5 Square End Cap
with 20x40 square pipe, hole: 210.5 with 53.5x23.5 square pipe with 53.5x23.5 square pipe, double opening
JE330: 25 X 50 Ellipse Pipe End Cap JE332:22 Ball End Cap JE333:25.4 Ball End Cap
with 25x50 ellipse pipe with 22 circle pipe with 25.4 circle pipe

20

XiaMen Jinen Plastic CO.,LTD.



End Cap and Outer Cap Series

®0 Il 99

JE335: Girdle Head Cap

JE358: 25x38 Square End Cap JE359: 38 Circle Pipe Outer Cap
@40x20L ,with 19 circle pipe

25x38x1.8T pipe 238x46L

e O,

JE378: Oval-shaped Cap JE384:32 Ball Cap JE394: 22 Big Head Circle End Cap
115x50x70 @38, with @31.8 pipe p28x23H,with 22%1.5T pipe

e® |) wee

JE415: 22 Ball Cap JE429: 40 X 70 Ellipse Crank Handle Cap JE431: 38 12 Angle Bias Cap
with 22 circle pipe 40x70 ellipse with 38 circle pipe

o0 ©0

JE437:30 Crank Handle Cap JE437-1:25 Crank Handle Cap
with @30 crank handle hole, e68xg58x930 with @25 crank handle hole, 868x@58x825

JE440: 28.6 8 Angle Bias Cap JE447: 50 Ball Armrest Pipe End Cap JE448: Decoration Cap
with 28.6 circle pipe e850=46L,with 32 or 25.4 pipe 240x17H,with opposite 14

-

JE432: 38 Scroll Wheel
three in one, with 38 circle pipe

21
ENERERERLHA

End Cap and Outer Cap Series

JE461: 15X 60 Ellipse End Cap JE239: 60 Circle Pipe End Cap JE241: Foam Roller Cap
with 1530 ellipse pipe with 260 pipe with 065%025 pipe

JE242: Arc Ellipse End Cap JE243: Arc Ellipse End Cap
with 40x80 pipe with 30x70 pipe

JE481: Opening Foot Pad
with @28.6 pipe

>
4...

JE483: 8 Girdle Head Cap JE484: 25 Flat Cap JE485: Small End Cap
232xp25.4 Flat, with 25.4 pipe 210x12

4 %
e %

JE488:25.4 Ball Cap
230.6, with 225.4 pipe

&%
L

JE486: 12X 6 Wire Cap JE487:38 Ball Cap
014.5x012x06x%12 with 838.1 pipe

== 00 J§

JEA489: 12.7 X 38 Square Outer Cap JE496: 30 Crank Handle Cap JE562: 25.4 X 50.8 Girdle Head Square Cap
with 12.7x38 square pipe 065%056x030 with 50.8x25.4 pipe, opening 25.4

22

XiaMen Jinen Plastic CO.,LTD.



End Cap and Outer Cap Series

ii it es

JE565: Square End Cap

JE566: M6 Screw End Ca .
with a hole in the middle P JE567: 25.4 Ball Cap

opposite 9mm 231%025.4 pipe

ms ¢ o%

JE735: Plating Square End Cap JE619: 22 Circlr Outer Cap JE620: 16 Circle End Cap
53.5%23.5 square pipe with 822 pipe e40=o16pipe

JE622: Plastic Bushing JE626: 33.4 Square End Cap JE244: Sector Circle Pipe Outer Cap
screw tooth hole with 33.4x1.5T square pipe with @32 pipe
JE746: Square Pipe Outer Cap JE672: BIKE Arc Protection Cases JE713: Nylon Cap
with 50x70 pipe 51x19x33 opppsite 13MM

JE570: 38 12 Angle Bias Cap JE572: 32 Circle Pipe Outer Cap

JE715: 38 Horseshoe Cap
with trench, lettering ZL with 831.8x31H long

with @38 pipe
23

ENERERERLHE

JEOO1: 55 Circle Quter Cap JE002: 55 12 Angle Bias Cap

with 255 pipe with @55 pipe

JE013:50.8 L&R Transport Wheel JE027: 50 L&R Transport Wheel

three in one, with 50x1.2T + non-slip wheel three in one, with 50x1,5T + non-slip wheel

P I Y

JE030: 50 Transport Wheel JE149: 50.8 Foot Pipe End Cap
three in one, with 50 or 50.8 pipe with 50.8 circle pipe

JE151: 38 Semicircle Foot Pad JE152: 25 Circle Pipe OQuter Cap
e50xp38x27, with 38 circle pipe @25.4x25L,with 25 circle pipe

o8 ©

JE154: 50 Circle Pipe Outer Cap JE154-1: 50.8 Circle Pipe Outer Cap
stripe,with 50 or 50.8 pipe flatwith 50 or 50.8 pipe

JE156: 38 Horseshoe Cap JE157:50.8 12 Angle Bias Cap
with 38.1 circle pipe solid, with 50.8 circle pipe

JE006: 55 Transport Wheel

with @55 pipe, three in one

JE029: 50 Scroll Wheel
two in one, with @50 or 50.8 pipe

JE150: 32 Opening Foot Pad
with 25 or 32 circle pipe

JE153: 38 Circle Pipe Quter Cap
with 38.1 circle pipe

JE155: 38 8 Angle Bias Cap
with 38.1 circle pipe

JE158:50.8 12 Angle Bias Cap
hollow, with 50 or 50.8 circle pipe

XiaMen Jinen Plastic CO.,LTD.



4
L

JE159: 50 Horseshoe Cap
with 50 or 50.8 circle pipe

s

JE247: 50 Circle Pipe Opening

Foot Bushing
@50=x50H, single level double opening

Sw

JE273: 60 Scroll Wheel

with @60 pipe, two in one

JE344:L&R Alien Foot Pad
135%95x70

&

JE359: 38 Circle Pipe OQuter Cap
238x46L

25

ENERE2RERLHE

JE214: Support Holder
55%186

JE249: Circle Pipe Opening Outer

Foot Bushing
250, two levels single opening

v e

JE285: 15X 30 Ellipse Foot Bushing
40x24x34L,15x%30 ellipse pipe

JE346: Moving Wheel Frame
with @38 square pipe, 102x44 5%08.3

JE370: L&R Front Foot Bushing
four in one, with 50x100 alien triangle pipe

JE240: 60 Circle Outer Cap
with @60 pipe

*

JE272: 60 12 Angle Bias Cap
with 60 pipe

an

JE343: L&R Triangle Outer Cap
with 50x100 alien triangle pipe

[
-

JE349: L&R Alien Foot Pad
130x90x50

JE371:L&R Rear Foot Bushing
with 50x100 alien triangle pipe

®8 ©V uee

JE610: 32 Transport Wheel JE428: 19 Opening Foot Pad
two in one 025%019x40MM, with 19 circle pipe

JE431:38 12 Angle Bias Cap
with 38 circle pipe

JE440: 28.6 8 Angle Bias Cap
with 28.6 circle pipe

JE432: 38 Scroll Wheel

three in one, with 38 circle pipe

JE480: 28.6 Circle Quter Cap
with @28.6 pipe

ah &3

JE491: Nozzle Bushing
use for packing XIKE

JE553: Front Adjustment Foot Bushing (L)
with adjustment runner wheel,
with 40x80 ellipse pipe

JE554: Front Adjustment Foot Bushing (R)  JE555: Rear Adjustment Foot Bushing JE556: Adjustment Foot Bushing
with adjustment runner yvheel, with adjustment runner wheel, with adjustment runner wheel,
with 4080 ellipse pipe with 40x80 ellipse pipe with @50 pipe

JE492: Support Sleeve
use for packing XIKE

JE489: 12.7 X 38 Square Outer Cap
with 12.7x38 square pipe

JE551: 60 Scroll Wheel

three in cne, with @60 pipe

JE552: 60 Adjustment Foot Pad
with adjustment runner wheel, with @60 pipe

26

XiaMen Jinen Plastic CO.,LTD.



JES570: 38 12 Angle Bias Cap
with trench, lettering ZL

JE668: 50.8 Transport Wheel
three in one, with 50.8x1.2 pipe

L V' N

JE244: Sector Circle Pipe Outer Cap

with @32 pipe

JE716: 38 Scroll Wheel
with rib three in one, with @38 pipe

JE744: 50 12 Angle Bias Cap
with @50 protruding pipe

27
Ee&BERERAF

JE572: 32 Circle Pipe Outer Cap

JE706: Short Circle Pipe Outer Cap

JE560: 63.5 Circle Pipe Outer Cap

JE572-1: 32 Circle Pipe Outer Cap
with @31.8%27H (short)

with 831.8x31H(long)

JE715: 38 Horseshoe Cap
with @50=38L, with stripe with 838 pipe

JE564: Double Color Adjustment Cap

with @63.5 pipe 12 angles with @60 pipe, two optional color

4
o

JE737: Ellipse Foot Bushing
with 2550 ellipse pipe

JE745: 50 12angle Bias Cap JE746: Square Outer Cap
with @50 solid pipe, PVC with 50x70 pipe

JE743: Non Slip Horseshoe Cap
with @38 pipe, PP + TPR

JE164: 25X 25 Hollow Cap
25x25 turn 20x20 square pipe

L

JE167: 38100 Hollow Cap
38x38x1.5 pipe turn 30x30, 100L

=T~

JE170: 50 Turn 38 Inter-pipe Bushing
50x50 turn 38x38, 34L

JE173: 30=60 Ellipse Inter-pipe Bushing
3060 turn 25x50 elipse pipe, 50L

JE318: 45 Turn 33.4 Inter-pipe Bushing
with 45x45 turn 33.4%33.4 square pipe, 28L

Inter-pipe Bushing Series

VIS

JE165:32X 25 Hollow Cap
with 31.8 turn 25.4 circle pipe, 75L

!

JE168: 50.8 X 38 Hollow Cap
50.8 turn 38.1, 90L

al

JE171: 50 Turn 45 Inter-pipe Bushing
50x50 with 45x45, 37L

oW

JE174: 30 X 60 Ellipse Hollow Cap
3060 turn 2550 elipse pipe, 103L

Ui

JE319: 50.8 Turn 38 Inter-pipe Bushing JE320: 38 Turn 34 Inter-pipe Bushing
with 50.8 turn 38 circle pipe, 162L with 38%38 turn 34=34 square pipe, 24L

JE166: 38 X32 Hollow Cap
with 38.1 turn 31.8 circle pipe, 80L

"N

JE169: 50.8 X38 Hollow Cap D Type
with 50 D shape pipe, 50.8 turn 38.1, 120L

4 4

JE172: 40 X 80 Inter-pipe Bushing
40x80 turn 30x60 square pipe, 53L

g

JE174-1: 30X 60 Ellipse Hollow Cap
3060 turn 25x50, BSJ

28

XiaMen Jinen Plastic CO,,LTD.



Inter-pipe Bushing Series

‘\Q — oY

JE329: 40X 80 Ellipse Inter-pipe Bushing  JE331:50 Turn 38 Inter-pipe Bushing JE375: 38 Turn 28 Inter-pipe Bushing
40=80 turn 30x70 ellipse, 120L with 50=50 turn 38=38 pipe, two in one (long) with @38 turn @28 pipe
JE376: Long Bushing JE377: Short Bushing JE383: 30X 60 Short Inter-pipe Bushing
40=70 turn 30%60 glasses pipe, 110L 40=70 turn 30x60 glasses pipe, 43L 30x60 turn 23.5x53.5, 100L
JE383-1: 30 X 60 Long Inter-pipe Bushing JE393: 60 Turn 50 Hollow Pipe Cap JE442: Inter-pipe Bushing
30x60 turn 23.5%53.5, 145L with @60 turn 50 ©31.8x025.4x92L
JE452: Circle Inter-pipe Bushing JE453:30% 60 Ellipse Inter-pipe Bushing  JE503:30% 50 Ellipse Inter-pipe Bushing
9286 xp23.2x80L 30=60 turn 20=40 ellipse, 115L with 30x50 turn 20x40 ellipse
JE702: 38X 100 Slotting Hollow Cap JE703: 38 X 50 Short Hollow Cap JE167-1: 38X 100 Hollow Cap
38=38 turn 30=30 single side slotting, 100L 38x38 turn 30=30, 50L lettering FC, 38x38x2.0 turn 30x30

29
ENEReRERLHE

JE215: Z1 Foot Pedal JE216: Stepper Foot Pedal JE217: GM Foot Pedal
300120, 4 hole location 330%115, hole distance 165 335x180%42

JE218: Pedal Combination JE232: 7008 Foot Pedal JE253: Small Foot Pedal
380x255x33 238x108

JE287: Pedal JE288: Pedal Belt JE361: 11 L&R Foot Pedal
100x%45%27H 257%47%05.5 325x130, with 25%50 square pipe
JE362: 12 L&R Foot Pedal JE363: Air Elliptical Trainer Foot Pedal JE363-1: Air Elliptical Trainer Foot Pedal
325%130, with 25x50 ellipse pipe, 350%150, hole distance 180

350150 polar hole, hole distance 180

JE364: Elliptical Trainer L&R Foot Pedal  JE403: Air Elliptical Trainer Foot Pedal(L) JE404: Air Elliptical Trainer Foot Pedal(R)
400%135x% hole distan:ge‘l 2853 with 40x80 ellipse 375x145xhole distance 180 375x145xhole distance 180

30

XiaMen Jinen Plastic CO.,LTD.



Belt Pulley Series

F 4
| | | |

_/' . A . g

JE472:13 Left Foot Pedal JEA72-1:13 Left Foot Pedal JE549: Elliptical Tranier Left Foot Pedal JE188: 150 Belt Pulley JE189: 155 Belt Pulley JE191: 180 Belt Pulley
325x130, with 25x50 ellipse pipe 325x130, with 2550 ellipse pipe 393x160x distance hole 180 2150, J3 belt ,with 2pcs 6000 bearing 0155, J3 belt \with circle hole iron sheet 2180, J4 belt,
with circle hole or square hole iron sheet

) ™ ¥
/ \
- = 7 /

JE550: Elliptical Tranier Right Foot Pedal JE659: 14 Left Foot Pedal JE660: 14 Right Foot Pedal \
393%160x distance hole 180 with 25x50 square pipe with 25x50 square pipe

JE294: 200 Belt Pulley JE308: 200 Belt Pulley JE308-1: 200 Belt Pulley

2200, with hexagon hole iron sheet, J5 belt ©200, with hexagon hole iron sheet, J& belt 2200, with @17 circle hole iron sheet, J& belt
. / - 'a\ , e ———————— /' e e -\\
I 1 1 | \

: N\

\ S\ J
8 i - A S S

JE309: 200 Belt Pulley JE310: 240 Belt Pulley JE310-1:240 Belt Pulley
2200, with hexagon hole iron sheet, 2240, with hexagon hole iron sheet, J6 belt 2240, with 17 circle hole iron sheet, J6 belt
V groove triangle belt

/

JE707: Elliptical Tranier Foot Pedal
457x153x distance hole 250
(distance between two hole 1253)

JE661: 15 Left Foot Pedal JE662: 15 Right Foot Pedal
with 25x50 ellipse pipe with 25x50 square pipe

o TN A h o . B
/ N/ \

JE711: Elliptical Tranier Left Foot Pedal JE712: Elliptical Tranier Right Foot Pedal  JE741: Elliptical Tranier Left Foot Pedal
370%140x distance hole 160 370x140x distance hole 160 388x142x distance hole 180, with 30 square pipe o
JE350: 220 Belt Pulley JE350-1: 220 Belt Pulley JE338: 228 Belt Pulley
2220, with hexagon hole iron sheet, J& belt 2220, with 817 circle hole iron sheet, J& belt @228, with hexagon hole iron sheet

without magnet J8 groove

JE742: Elliptical Tranier Right Foot Pedal JE671: Massage Foot Pedal R JE767: 9932 Foot Pedal
388x142x distance hole 180, with 30 square pipe massage and tread 385x130, distance hole 200, with 2550 square pipe

31 32

. ENERERERLAE XiaMen Jinen Plastic CO.,LTD.



33

Belt Pulley Series

JE445: 260 Belt Pulley
@260, with hexagon hole iron sheet

JE458-1: 193 Belt Pulley

@193, with @17 circle hole iron sheet

JE676: 150 Belt Pulley

3 groove + aluminum alloy core

JE445-1: 260 Belt Pulley

0260, with @17 circle hole iron sheet

JE630: 155 Belt Pulley

JE677: 150 Belt Pulley

4 groove + aluminum alloy core

JE701: 155 Siamese Belt Pulley
3 groove + 817=168 central axis

ENERARERLE

JE738: 155 Siamese Belt Pulley

5 groove + 817 or 820 central axis

4 groove, @17 iron sheet inter hole + Magnet

JE458: 193 Belt Pulley

@193, with hexagon hole iron sheet

JE631: 155 Belt Pulley

4 groove, @20 iron sheet inter hole + Magnet

JE700: 155 Siamese Belt Pulley

3 groove + @17x166 central axis

JE175: Casing 33X 19.5
225%@13.5%33

0

JE178: Cushion 12X7.5
212x07.5

e 0

JE181: Bearing Space Casing
©25.4x014%15

o
Ooﬁ

JE183-1: 28 X 16 Bearing Bushing
228x223.8%x16x16

=R

JE185-1: 40 Bearing Bushing
240%12.5H,010 or 26

00O

JE192: Small Bushing
024%020, inter 215.2

Bushing Series

©0

JE176:Bushing 25.4X 16
225%213.5%16

JE179: Outer Cover
47.5x37

JE182:28.5X 16 Bushing
228xp25 8x016.5x16H

QO

JE184: 652 Bushing
830x@22x12L

(:\
N

JE186: Lean Space Ring
040%x019%28

JE708: Bearing Bushing
inter 6003 bearing, used for BIKE

JE177: Bearing Bushing 19X 15
219%213.5%15

JE180: Rubber Pad
o24xp8x8L

OO

JE183: 28 X16.5 Bearing Bushing
028x024x16.5%16

= Re

JE185: 40 Bearing Bushing
240x919x12.5

e

JE187: Sensor Fixed piece
20%13x9%05

SO

JE194: Bearing Bushing
o74xp41x12.5

34

XiaMen Jinen Plastic CO.,LTD.



=
§

Diichis Carvinc
Bushing Series

SO 00

JE195: Bearing Holder JE196: 38 Semicircular End Cap

o75xe42x12.5 238xg9%11.5
JE198: 38 Arc Pad JE199: 38 Inter Bushing
p38xp19%8 238x@19x20

e° 69

JE201: 32 Bushing Cap A JE202: 32 Bushing Cap B
231.8x919.5%20 231.8x014.5%20

JE221:32.5X 13 Plastic Bushing JE251: Plastic Bushing
832.5%x015%step 13x27L 832xp8x23

&0 OO

JE264:38 X 25 Inter Bushing JE265: 38X 25 Arc Pad
838xp25 238xp25

JE306: 42 Bearing Holder JE311:40 Interval Cap A
e42xp38.5%xp32x20H p40xp10.5x7 6H

35
ENsReRFERLE

JE197: 38.1 X 1.5 Bushing Cap
238xeB8x7.5

JE200: 38 Inter Bushing
238x911x20

JE203: 32 Rotate Bushing
232x219.5x75L

JE252: Pedal Bushing
025x214x12H

JE266: Semicircular End Cap
038x014x11.5

JE312: 40 Interval Cap B
240xg10.5%20H

JE313: 26 Bushing Cap
026xp22xg10x9H

Ve

JE316: 30 Limited Bushing (Rotate Bushing)

230xg19x83.5H

JE351: Big Cushion
238xp4.8%(013%x28H)x38H

JE354: 18X 10 Bushing
218x213.8x@10x13H

JE373: Handle Liner
@42x93L

.

JE382: 24 Liner
824%x012%16.5L

o
m

JE314: 32 Bushing Cap

231.8xe13%18H

JE328: Big Nylon Bushing
228x022x016.2x16H

225%x@19x15H

JE355: 18 X 7.8 Bushing
218x913.8x07.8x15H

—
|

JE374: Crank Liner
o42x54L

JE390: Crank Buckle
056x016%23

O

JE352: Circlips for Shaft

"

JE315:40 Semicircular End Cap

2839.5x010.3x15H

JE334: Nylon Bushing
©24x45

JE353: Liner
@25%@21.8xp7.8x6H

JE356:22 X 8 Bushing
222xe20%xe8x11H

JE381:32 Semicircular End Cap
©31.5%11.5L

JE391: Belt Buckle
20Wx1.5T

36

XiaMen Jinen Plastic CO.,LTD.



Bushing Series

CC =

JE392: Arc Sheet JE398: 32X 65 Rotate Bushing
©33.5%016.2x3.5 32x19x65L

JE441: 25 Bushing JE446: Crankshaft Core Bushing
025%x316x14H 232x019%16

JE459: 17 X 8.5 Bushing JE460: Spring Holder
@17%213.5%p8.5%12H 016x@8.5%46 5L

.\

JE571: Bearing Holder JE623: Plastic Bushing
©12%08.2%22 4L 228x14L

Ji

JE627: Bushing JE628: Bushing
220=210.5%23.5L 220%p10.5%28.5L

oo
oO

JE717:28 X16 Bushing JE193: 28 16 Bushing
028%022.8%¢16%10.3 328x025 8x016.5%16H, with hole

37
ENsReRFERLA

JE416: 30X 10.5 Bushing
230=x210.5

JE454: 32 Transition Bushing
232x016%5

JE493: Liner
235%xg12.6x12

Se

JE624: Plastic Bushing
228x%10L

JE629: Bushing
017x08.2x18.8L

Cover Series

l;/"_ ‘ "“\_\ I{/’_ '\ f'_/_
N I % 7% .

JE222: Magnetic Wheel Cover JE226:3602 Chain Cover(Outer) JE227:3602 Chain Cover(Inter)
263x60=80 560x260x25 280x260x20
I// = N / / 3 -\\\I I// —\I
.9 7% a2 S
JE228:3602 U Type Cover JE229: Big Pulley Cover JE230: Small Pulley Cover
120%136x20 90x65x25
i | h-Fd -7 8 R
e 2 I"\.__ _/’: I\\_ J
JE233:7008 Cover JE234: 57X 9.5 Decoration Cover JE238: 2080 Left Cover
107=60 e57*29.5%x9 690x=285x92
Fe b U o <
i ai
N \_ P
JE238-1: 2080 Right Cover JE254: 652 Cover (L) (X-BIKE) JE255: 652 Cover (R) (X-BIKE)
690x285x98 440x250%025 440%250%025
/ 4 E b I// ““\.\I \I
(e
e N Y /"'
JE256: 652 Front Cover (X-BIKE) JE279:915A Cover JE280: Semicircular Decoration Cap
320x75, colorful X-BIKE cover 218xR109
/~ AV VY4 I| )
\ / '\.- ‘ ]\ /
JE299: L&R Front Cover JE300: L&R Reer Cover JE301: L&R Transition Block
200x105%70 105%102%56 82x25%13

38

XiaMen Jinen Plastic CO.,LTD.



Cover Series Cover Series

JE302: 652D Cover Left ( X-BIKE) JE303: 652D Cover Right ( X-BIKE) JE304: 652D Front Cover ( X-BIKE) JE402: Spinning Bike Rear Tail Cover JE430: Treadmill Armrest Cover JE443: Spinning Bike Left Cover
matte matte 108x22x10 108x55 760%295%65
JE339: Horse Head Decoration Cover JE340: Goose Head Decoration Cover JE342: L&R Flywheel Cover JE444: Spinning Bike Right Cover JE455: X-BIKE Left Cover
(Double Hole) (Single Hole) 2388%060, can print 760%295%65 PP
70x58%x018 76%52%016

¥

L

JE369: L&R Rotating Shaft Cover
102x76x26

JE379: Foot Cover
392x83.5

JE457: X-BIKE Front Cover
265x75%187, with two sockets

JE372: L&R Pedal Cover
150x75x100

JE302-1: BIKE Left Cover
glossy

JE190: V14-3 Bookshelf Group
AP shelf, for magnetic bike

1L

JE385: 671 Left Cover
416%269x46

JE387: Front Foot Cover
350x70%56

JE386:671 Right Cover
416x269%46

JE389: Front&Rear Foot Cover Pad

for stick the foam

JE304-1: Front Cover

transparent

JE302-2: BIKE Left Cover
Transparent glossy

JE303-1: BIKE Right Cover
glossy

3
o
=

JE397: Treadmill Cover
500x330%90

JE388: Rear Foot Cover

250%70%56 JE303-2: BIKE Right Cover

Transparent glossy

JE304-2: BIKE Right Cover

Transparent glossy

JE664: BIKE Left Cover

can print

2R = N I N / \ / \

5
1
1
1
1

JE400: Spinning Bike Front Cover JE401: Spinning Bike Rear Cover JE401-1: Spinning Bike Rear Cover JE665: BIKE Left Cover JEG66: Front Cover JE709: Mini Elliptical Tranier Left Cover
650x260x40 460%265%40, with T type steper 460x265x%40, without steper can print Transparent black

‘ 39 40

‘ ENsReRERLA XiaMen Jinen Plastic CO.,LTD.



Cover Series

N

\ PN
JE710: Mini Elliptical Tranier Right Cover

JE714: Wheel coreCover

-

L AN
JE782:911 Right Cover JE784: 912 Right Cover
' AY \ I \
\ \ J
% Fa A J

JE466: Air Elliptical Trainer Wheel
2500, gearwheel+powder cap
(copper cap and Nylon Cap can optional)

r eV LT ™

\ 7% P

JEA78: Three-way Decoration Cover
spray painting can be choosed

JE464-1: Air Elliptical Trainer Left Cover  JE465-1: Air Elliptical Trainer Right Cover
two type: with hole and without hole two type: with hole and without hole

JE494: X100 Left Cover
with 30x50 ellipse or 30=60 ellipse

JE477: Big Decoration Cover
spray painting can be choosed

4 N(

L % f NG
JE495: X100 Right Cover
with 30=50 ellipse or 30%60 ellipse

JE530: 920 Upright Bike Left Cover
565x%365, single hole

JE499: X100 Front Cover
suitable for both 30%50 ellipse and 30x60 ellipse

—\- /_ ._\\'I /_ _h\
| Q ] .
Py g p,
JE531: 920 Upright Bike Right Cover JE530-1: 920 Elliptical Tranier Left Cover ~ JE531-1:920 Elliptical Tranier Right Cover
565%365, single hole 565%365, without hole 565%365, without hole

-

41
ENsR@RERLA

Cover Series

# N i

JE533: 926 Upright Bike Right Cover JE534: Upright Bike Front Handle Cover
850x475, double hole

N

JE532: 926 Upright Bike Left Cover
850x475, double hole

w i\k NL
B Vay A

JE535: Upright Bike Rear Handle Cover JE536: 928 Elliptical Tranier Left Cover ~ JE537:928 Elliptical Tranier Right Cover

1075515, with @400 film-to-video transfer 1075%515, with @400 film-to-video transfer
4 V4 N
N FaN
JE538: Elliptical Tranier

v il
'lr 1
JE539: Film-to-Video Transfer
Film-to-Video Transfer

L9

JE540: Meter Pipe Cover
with 40x80 ellipse, 165H

2
Crank Handle cap

2400 @80

ﬁ [ I F )
N AN AN J
JE541: Elliptical Tranier Left JE542: Elliptical Tranier Right JE543: Elliptical Tranier Left
Handle Cover(L) Handle Cover(L) Handle Cover(R)
double hole single hole double hole
¥ i 7 k% o i B
\ J I"\ AN A
JE544: Elliptical Tranier Right JE545: Elliptical Tranier Left JE546: Elliptical Tranier Right
Handle Cover(R) Crank Cover(L) Crank Cover(L)
single hole double hole without hole
T ¥l Y

N

JE547: Elliptical Tranier Left JE548: Elliptical Tranier Right

Crank Cover(R) Crar_1k Cover(R)
Double hole without hole

42

XiaMen Jinen Plastic CO.,LTD.



Other Accessories Series

_D

__ -

sa =

Other Accessories Series

JE031: Pulley Block
with 8MM or 10MM hole

JE032-1: Fixed Terminal Hook(New)
©9.5,12x18 square hole x77L

JE031-1: Pulley Block

with hexagon hole
JE033: Fixed Terminal Cap
@22%24H, two type:e8 and 210

JE032: Fixed Terminal Hook JE209: Plastic Bushing

JE033-1: Fixed Terminal Cap(New) JE212: Cushion Fixed Board

@23x28H, two type:e8 and 210

JEO36: Plastic Head

JE220: Butter Box

JJEO35: Grip 2

858
==

JEO38: Buckle

JEO37: Pulley Shelf
48x75, inter hole 32x40

JE225: Magnet Block

JE055: 12MM Ball 27x3 grids, 10 grids or 7 grids

JE210: Plastic Bushing
225.4x09.5%15

JE213: Blow Molding Fixed Board

452x39x21, can customize brand

I_.' .I I'. '\.I / \

JE223: 8MM Magnet Block
215%x@3x9, with hook

JE211: Limit Block

A

JE214: Support Base

JE224: 8MM Magnet Block
222x019x6, without hook

JE235: Spacer
48%40%21x06.2

el

'y

JE204: L&R Back Support Shelf Cover
with 2pcs M6 nut

\

JE096: Gearwheel Small Cover JE205: Pulley Shelf

JE236: Support Pad
050%8.5x41L

T

os® WIS

JE206: Terminal Cap Combination JE77: Armrest Swing Rod

terminalicap\semicircular buckle

JE207: L&R T type Linker JE208: L&R Up and Down End Cap

ENsR@RERLA

JE278: Magnet Block
256x45,39x28 magnet 8 grids

)\ J
JE231:7008 Book Shelf Board
440%340%12.4

JE234:57 X 9.5 Decoration Cover

-rl-l--l-l-b'llm

JE37: Plastic Board

JE283: Wire Rope Limit Buckle
BOx24x56xa17

XiaMen Jinen Plastic CO.,LTD.



Other Accessories Series Other Accessories Series

| ﬂ [IITTITIT] —= ’ O
ITTTITITTT = ‘

JE436: Kettle Shelf

JE424: Fixed Block

JE284: Plastic Cushion JE286: Clamp Ring A\B JE290: Magnet Block JEA423: Right Fixed Plastic Block
216 xo11x6 62x@35%a12 290%45,39%28 magnet 9 grids 80x30%20 240x011 125%80=80
JE292: Fixed Block 1 JE292-1: Fixed Block 2 JE327: Brake Plastic Pad JE450: 6801 Small Accessories JE451: 255 Figure Trimmer (with Pillar 1) JE451-1: 255 Figure Trimmer (with Pillar 2)
50x35x12 102x36x6H, 25x6 ellipse 44x20x11 nut pillar height 23MM nut pillar height 18MM

50%35%17H
I.’ E 'I '\_i / '\_I _I 4

JE347: Remote Control Shelf kel

JEA473: Adjustment Foot Pad Up Cap JEA74: Adjustment Foot Pad Low Cap JE490: Cyclocompute Outer Cover
©38.8x7.8 250

JE346: Moving Wheel Shelf

JE341: 255 Figure Trimmer
@255 with 38 square pipe,102x44 5xg8.3 108x95
- IXTTTITIYYIY . . - - i
JE379: Foot Cover JE380: Plastic Ellipse Limit Buckle JE399: Plastic Magnet Block JES&?;;‘Lracuss;éiratme JE611: Spring Combination Product JE612: Spring Combination Linker
392x83.5 aT7x20x24 280X 24X 19H P H 033%405L, plastic+spring+flexible pipe 220%510.5%28 5L
JE419: 25 Foot Pad JE613: Linker Semixirclar End Cap JE614: Spring Holder 1 JE615: Spring Holder 2
234, with bump 234

JE413: 55X 29 Collar JE414: 55 % 18 Collar
255=218

855%@29
..-/- ) \'. ’ \ ._/- —_ - > / X ff X of
| ' - B  eemm || 0@ |
h * ——

. i

f o\ / \ f | / /

s

" o ; (7 ‘ " . : JE632: Safety Switch Clip JE633: Safety Switch JE633-1: Safety Switch
JEA20: Lef;gl'l 3r§f 4;”ay Linker JE421: Rig r;;:géfi;way Linker JE422: Leftﬁ';':;ﬂigéamc Block 43%28x9 ©32%19.8,inter 9.2 x5.6 strong magnet inter 9.2 x5.6 strong magnet +stainless steel pin
46

\

N

XiaMen Jinen Plastic CO.,LTD.

45
ENsR@RERLA



JE705: Phone Holder

Alien

220%24

Re

JE725: Trampoline D Type Outer Cap

D26x30%22

JE722: Trampoline Strip Holder

Other Accessories Series

\ ;/ \
¥ 74
JE720: Trampoline Foot Pad JE721: Trampoline Foot Pad
245xp28.6 pipe + gasket 250=@32 pipe + gasket
- -\_\\ !’/_ _‘\.. I./" —\.\
A8 P2 i P
JE723: Screw Nut JE724: Screw End Cap
M35 232 turn 825 pipe
=N ™
/ X 4 N /
JE726: Trampoline D Type Outer Cap JE727: Hole Cap
D30x35x%22 250%10H

B e LT ""\‘_

T

\

S /'/II //

JE728: Fold End Cap Up JE729: Fold End Cap Below JE730:End Bushing A
50x68x32 38x45x25

Va8 "\.I .-/ 3 “\I II/"' ™
'\\5 _'_/" " o N Y

JE731:End Bushing B JE732:D Type Foot Pad JE733: Left Cover

inter iron part with @25 pipe 250%150%30

7 N 3 o
. rFa £ 0%

JE734: Right Cover
250x150=30

47

ENERERFERLA

UKO009: Arc Circle Pipe Outer Cap
with 832 pipe, 60x29H

JE747: Magnet Interval Groove
@34, with bump

JE767:9932 Foot Pedal

385x130, hole distance 200
with 25%50 suqre pipe

JE770: Foot Cap Wheel
©50%08.5x50L

JE773: Ball Pipe Cap
with @50 pipe

JE776: Decoration Wheel
e50x028%16

. &
Y

JE779: Bevel Foot Pad
with @50 pipe

JE768: Left Foot Shelf
@34, with bump

JE771: Plastic Arc Pad
250xe25

JE777: Big Lining
034x@30%026%23

JE780: 16 Circle End Cap
with @16 pipe

JE769: Right Foot Shelf

@34, with bump

JE772: Plastic Arc Pad

250=g12

A

JE775: Below Hang Holder

R

JE778: Small Lining
025%xp22x016x22

JE123: 28 Circle End
with @28.6 pipe

Cap

48‘

XiaMen Jinen Plastic CO.,LTD. [



=
=

Abdominal Device 1 Series Q&

= d ®
\ i FO e

JE115: 22 Circle End Cap JE130: 25X 25 Square End Cap JE356: 22 X 8 Bushing JE408: Long Rolling Hose
with 22.1 circle pipe 25%25, square pipe 022%xp20%8x11H ed44x177
% { N R
st . 3
JE409: Short Rolling Hose JE410: Long Foam Hose JE411: Short Foam Hose JE412: Casing
044x159 048%172 248x150 826x159
| J { l
o
JE413:55%29 Collar JE414: 55X 18 Collar JE415:22 Ball Cap JE416: 30X 10.5 Bushing
255%@29 055%018 with 22 circle 230%210.5
{ { -] ~ 7 :
AN 7R /
JE417: Knob Cap JE418: M6 Small Triangle Knob JE419: 25 Foot Pad JE420: Left Three Linker
025, M6 nut MBx25 825 50x38x43
SR i _ 7
.'F. =
N S

JE421: Right Three Linker JE422: Left Fixed Plastic Block JE423:Right Fixed Plastic Block JE424: Fixed Block

50x38x43 80x30%20 80x30%20 040%011
{ =
L

JE425: 60 Scroll wheel
e60x30H

49

HN&RERERAS

| |

¥

“a’ Abdominal Device 2 Series

eoe 09 B B

JEOT1: Wheel JE058: M6 Back Support Knob JE099: Square Cushion
2100%8x22 with 2pcs 608 bearing @30xM8, length can be customize IQOEZDx 04.5

JE143: Circle Pipe Inter Cap JE144: Ellipse Pipe End Cap JE204: L&R Back Support Shelf Cover
@40, with 22 circle pipe with 820xe60 ellipse pipe with 2pcs MB nut

ee st g

JE205: Big Plastic Clip Holder JE206: Terminal Sleeve Combination JE207: L&R T Type Linker

terminal\cap\semicircular buckle

JE208: L& R Up&Low Chassis Cover JE209: Plastiic Casing JE210: Plastic Bushing
247%138L 225.4%x99.5%15
JE211: Limited Block JE212: Cushion Fixed Plate JE239: Anchors
340%355 4MM

50

XiaMen Jinen Plastic CO,,LTD.



51

JE110: 012 X 04 Wire Cap
014.5%012x04%12

SS9
.

JE479: Puelly
255%30

JE482: 25 Foot Pad
225x922H, M8x8

» 9
A 2B

JE485: Small End Cap
210%12

JE721: Trampoline Foot Pad
250%@32 pipe + gasket

LY

JE724: Screw End Cap
832 turn @25 pipe

ENeRERARLE

JE477: Big Decoration Cover

spray paint can be customize

JE480: 28.6 Circle Outer Cap
with 828.6 pipe

W

JE483: Girdle Head Cap
032%025.4

JE486: 12X 6 Wire Cap
214 5xe12xp6x12

JE722: Trampoline Strip Holder

220%24

JE725: Trampoline D Type Outer Cap

D26x30%22

JEA78: Three Links Decoration Cover

spray paint can be customize

JE481: 28.6 Opening Foot Pad
with @28.6 pipe

JE484: 25 Flat Cap
Flat, with 25.4 pipe

JE720: Trampoline Foot Pad
@45%p28.6 pipe + gasket

@e
C R

JE723: Screw Nut
M35

JE726: Trampoline D Type Outer Cap

D30%35%22

JE285: 15X 30 Ellipse Foot Pad
@40x24Hx34L, 15%30 ellipse

|

JE288: Foot Pedal Belt
257x47%25.5

|

JE387: Front Foot Cover
350x70x56

-
X"

JE391: Belt Buckle
20Wx1.5T

JE729: Fold End Cap Below
38x45%25

JE732: D Type Foot Pad
with @25 pipe

JE286: Clamp Ring A\B
62x@35x12

JE385: 671 Left Cover
416x269%46

JE388: Rear Foot Cover
250x70%56

JE727:Hole Cap
250%10H

JE730: End Bushing A

MI-Bike and Leg Machine Series

JE287: Foot Pedal

100x45x27H

o
&

JE386: 671 Right Cover

416%269=46

JE390: Crank Buckle
056x016x23

‘cf

4
.

JE728: Fold End Cap Up

50x68%32

JE731: End Bushing B

inter iron part

JE733: Left Cover
250x150x30

JE734: Right Cover
250x150=30

52

XiaMen Jinen Plastic CO,,LTD.



Stepper Series

JE025: Powder Metallurgy Pulley
2100%9.8%22, powder axle @10x22L

\ X

JE102: 32X 16 Flat Cushion
034x032%08.5%16H

ﬁ ..‘ i

JE154: 50 Circle Pipe Outer Cap
stripe, with 50 or 50.8 pipe

JE199: Inter Bushing
238x218x20

OO

JE265: 3825 Arc Cushion
@38xp25

JE268: 30X 12.5X 13 Cushion
830%x012.5x13H

53

i!naammamﬁﬁ

S0 ¢

JEO70: 58 Plum Blossom Knob
058x%p23 with “+&-" mark, can customsize
M8 to M16 screw

JE104: 38 XR35 Cushion JE110: 12 Wire Cap
235%216%38 214.5%012%x04%12

©0 -

JE196: 38 Semicircular End Cap JE198: 38 Arc Cushion
038%09%11.5 ©38x019x8

=T}

JE264: 38X 25 Inter Bushing

JE080:Triangle Knob
@48x@17 can be customsized M8 to M16 screw

JE216: Stepper Step Pedal
330115, hole distance 165 238xp25

@0 00

JE266: 3825 Semicircular End Cap JE267:30X12.5X 2 Cushion
038x025 830%p12.5%2

OO0 e\

JE269: 25X 13X 1.2 Cushion JE289: 76 Circle End Cap
225%@13%1.2 with 786 circlr pipe

-
JE013: 50.8 L&R Transport Wheel JEO14: Moving Wheel(Wine Barrel Wheel) JE029: 50 Scroll Wheel
three in one, with 50x1.2T + non-slip wheel @22x6.5x@30L two in one, with @50 or 50.8 pipe

Yo

JE030: 50 Transport Wheel
three in one, with 50 or 50.8 pipe

o9 4 OO

JEO048: 37 Elastic Pin
@37xM186, length can be customize

JE049: 57 Elastic Pin

@57xM186, length can be customize

JE093: Plastic Washer

JE067: 60 Plum Blossom Knob JE082: Heart Shape Knob
060%@24,grained leather, screw rob M12x45 M8 to M16 screw and length can be customsized 220%08.5%2T

JE110: 12 Wire Cap JE111:Ellipse Wire Cap JE432: 38 Scroll Wheel
@14 5%xp12%a4x12 26x21x11.5 three in one, with 38 pipe

JE154:50 Circle Pipe Outer Cap
stripe, with 50 or 50.8 pipe

JE158: 50.8 12 Angle Hollow Cap JE715: 38 Horse Cap
hollow, with 50 or 50.8 circle pipe with @38 pipe

54

XiaMen Jinen Plastic CO.,LTD.



iy ot
V4

X-Bike Series J\}‘

P ©0 @e

JE167: 38X 100 Hollow Cap JE184: 652 Bushing JE188: 150 Belt Pulley
38=38 turn 30x=30, 100L 230xp22x12L with @150,J3 belt and 2pcs 6000 bearing
JE189: 155 Belt Pulley JE194: Bearing Holder JE438: 652 Idler Pulley
@155,J3 belt, with circle hole and iron sheet eT4x041x12.5 ©36x15H, double 6200 Bearing

ITITIIIIITY e
LITTTTTITTIY =

JE399: Plastic Magnet Holder JE322: 9MM Limited Cap JE347: Remote Control Holder
280x24x19H 29x@8MM 108x95

oJe
OO

=9
e« B

JE471: Nylon Gasket JE467: Rubber Cushion JE491: Nozzle Bushing
214xp10.5x1.0T rubber use for X-BIKE packaging
JE492: Support Sleeve WT001: 8 Grade Tension control WTO006: 8 Grade Tension control
use for X-BIKE packaging 1 Short 8 Long 1 Short 8 Long
‘ use for X-BIKE, wire length can be customized use for X-BIKE, gray, wire length can be customized
55

‘!nannmamaa

JE254:652 Cover (L) (X-BIKE)
440x250%025

JE302: 652D Cover Left ( X-BIKE)

matte

)|

JE255: 652 Cover (R) (X-BIKE)
440x250x@25

JE303: 652D Cover Right ( X-BIKE)

matte

JE302-1: BIKE Left Cover
glossy

JE303-1: BIKE Right Cover
glossy

JE302-2: BIKE Left Cover
Transparent glossy

JE664: BIKE Left Cover

can print

JE303-2: BIKE Right Cover
Transparent glossy

JE665: BIKE Left Cover

can print

| S—

JE256:652 Front Cover (X-BIKE)
32075, colorful

JE304: 652D Front Cover ( X-BIKE)

JE304-1: Front Cover

transparent

JE304-2: BIKE Right Cover

Transparent glossy

JE666: Front Cover

Transparent black

56

XiaMen Jinen Plastic CO.,LTD.



JE019: 60 Moving Wheel JE048: 37 Elastic Pin
o61x8.5%25 837xM16, length can be customized

</ PO

JE056: 50 Armrest Adjustment Knob
250, M16e45, 8.5mm rob in middle,
or customize the rob

¢
¢ e

JEO72:50 Plum Blossom Knob

@50xe21,can customsize M8 to M10 screw

JEO53: L Type Elastic Pull Pin

inter iron teeth, screw rob can be customized

JE062: 40 Adjustment Pad
240xM8, length can be customized

& 4

JE140: 30 X 60 Ellipse Cap
with 30x60x1.5T ellipse pipe

JE088: 60 Adjustment Foot Pad
060x%15.6H, can customsize M8 to M12

JE226: 3602 Chain Cover(Outer) JE227:3602 Chain Cover(Inter)
560%260%25 280x260%20

57

ENeRERARLE

JE049: 57 Elastic Pin

857xM16, length can be customized

Yé

JE061:42 Adjustment Pad

242x040=x210.5%x12H, length can be customized

JEO86: Brake Handle
040xMBxME screw

99

JE183: 28 X 16Bearing Sleeve
028%025%16.5%16

PR

JE228:3602 U Type Cover
120x136x20

JE327: Brake Plastic Pad
102x36x6H, 25x6 ellipse

JE360: 70 PU Wheel
@70x23H, with 608 bearing

JE326:53.5X23.5 Square End Cap
with 53.5x23.5 square pipe

==
<

JE342: L&R Flywheel Cover

JE329: 40 X 80 Ellipse Inter-pipe Bushing
40x80 turn 30x70 ellipse, 120L

9

: JE366: Double Color Brake Handle Knob
#368xa060, can print 045x49H,M8x15 nut

1l i &

JE383: 30X 60 Short Inter-pipe Bushing ~ JE383-1: 30X 60 Long Inter-pipe Bushing
30x60 turn 23.5x53.5, 100L

JE400: Spinning Bike Front Cover
3060 turn 23.5x53.5, 145L 650x260%40

= 1

JE401-1: Spinning Bike Rear Cover JE436: Kettle Shelf
460%265x%40, without steper 125%80x80

e W

JE443: Spinning Bike Left Cover JE444: Spinning Bike Right Cover JE453: 30 X 60 Ellipse Inter-pipe Bushing
760x295%65 760%295%65 30x=60 turn 20=40 ellipse, 115L

JE401: Spinning Bike Rear Cover
460=265=40, with T type steper

58‘

XiaMen Jinen Plastic CO.,LTD. ‘



P

-

JE378: Oval-shaped Cap
115x50%70

JE271:T Shape Knob
M8 screw rob, length can be customsized

i

-
|
Elliptical Tranier Series @
L5 -
JE447: 50 Ball Armrest Pipe End Cap JE084: New Slotted Knob
#50x4BL with 32 or 25.4 pipe can customsize M8 nut or screw
JE339: Horse Head Decoration Cover JE340: Goose Head Decoration Cover
(Double Hole) (Single Hole)
70%58%018 76x52%016

JE048: 37 Elastic Pin

@37xM16, length can be customized

o9

JE201: 32 Bushing Cap A
231.8x919.5%20

—

JE316: 30 Limited Bushing

(Rotate Bushing)
230%019%83.5H

JE373: Handle Spacer
242x93L

59

‘!ﬂﬁaﬂmﬁﬁﬂﬁ

JE049: 57 Elastic Pin
257xM16, length can be customized

JE202: 32 Bushing Cap B
231.8%014.5x20

—
JE398: 32X 65 Rotate Bushing
©32xp19x65H

JE541: Elliptical Tranier Left
Handle Cover(L)

double hole

JE067: 60 Plum Blossom Knob
060xp24, skin surface,
M8 to M12 screw rob can be customized

JE203: 32 Rotate Bushing
232x219.5x75L

JE454: 32 Transition Bushing
032%x@16%5

JE542: Elliptical Tranier Right
Handle Cover(L)

single hole

JE543: Elliptical Tranier Right
Handle Cover(R)

fy N R

JE168: 50.8 X 38 Hollow Cap JE169: 50.8 X 38 Hollow Cap D Type JE319: 50.8 Turn 38 Inter-pipe Bushing
50.8 turn 38.1, 90L

ol

JE308: 200 Belt Pulley
2200, with hexagon hole iron sheet, J6 belt 2200, with @17 circle hole iron sheet, J6 belt 2220, with hexagon hole iron sheet, J6 belt

JE445: 260 Belt Pulley

@260, with hexagon hole iron sheet

[jq Elliptical Tranier Series .

r 1

JE544: Elliptical Tranier Right JE436: Kettle Shelf
Handle Cover(R) 125%80x80
single hole

with 50D type pipe, 50.8 turn 38.1, 120L with 50.8 turn 38 circle pipe, 162L

\. ‘
\?:w
JE012: Idler Pulley(Briquetting Pulley) JE338: Idler Pulley JE435: Idler Pulley
243%35.5%25, with 1 or 2pcs 6000 bearing 241x%29 5H, with 2pcs 8003 bearing @40x25H, with 1 Or 2 pcs 6000 bearing

ol ol

JE308-1: 200 Belt Pulley JE350: 220 Belt Pulley

JE350-1:220 Belt Pulley JE310: 240 Belt Pulley JE310-1: 240 Belt Pulley
2220, with @17 circle hole iron sheet, J& belt 2240, with hexagon hole iron sheet, JB belt 2240, with @17 circle hole iron sheet, J& belt

JE445-1: 260 Belt Pulley JE363: Air Elliptical Trainer Foot Pedal
@260, with @17 circle hole iron sheet 350x150x52 hole distance 180

60‘

XiaMen Jinen Plastic CO.,LTD. ‘



Elliptical Tranier Series @y,

JE364: Elliptical Tranier L&R Foot Pedal  JE403: Air Elliptical Tranier Left Foot Pedal ~ JE404: Elliptical Tranier Right Foot Pedal
400x135x distance hole 188, 375%145x distance hole 180 375%135x distance hole 180

with40x80 ellipse, MEx20

JES549: Elliptical Tranier Left Foot Pedal JES50: Elliptical Tranier Right Foot Pedal JE369: L&R Rotating Shaft Cover
393x160x distance hole 180 393x160x distance hole 180 102x76x26

JE372: L&R Pedal Cover JE545: Elliptical Tranier Left JE546: Elliptical Tranier Right
150%75x100 Crank Cover(L) Crank Cover(L)

double hole

without hole

an

JE547: Elliptical Tranier Left JE548: Elliptical Tranier Right JE343: L&R Triangle Outer Cap
Crank Cover(R) Crank Cover(R) with 49.4x96 alien triangle pipe
without hole

) . .
JE370: L&R Front Foot Bushing JE371:L&R Rear Foot Bushing JE029: 50 Scroll Wheel
four in one, with 49.5x96 alien triangle pipe with 49.5x96 alien triangle pipe two in one, with @50 or 50.8 pipe
JE030: 50 Transport Wheel JE154: 50 Circle Pipe Outer Cap JE158: 50.8 12 Angle Bias Cap
three in one, with 50 or 50.8 pipe stripe,with 50 or 50.8 pipe hollow, with 50 or 50.8 circle pipe
61
ENeBERERLF

[jq Elliptical Tranier Series .

S v Ow

JE272:60 12 Angle Bias Cap JE273: 60 Scroll Wheel JE551: 60 Scroll Wheel
with 60 pipe with @60 pipe, two in one three in one, with @60 pipe

JE552: 60 Adjustment Foot Pad JE553: Front Adjustment Foot Bushing (L) JE554: Front Adjustment Foot Bushing (R)
with adjustment runner wheel, with @60 pipe with adjustment runner wheel, with adjustment runner wheel,
with 40x80 ellipse pipe with 40x80 ellipse pipe

@ @

JE555: Rear Adjustment Foot Bushing  je530-1: 920 Elliptical Tranier Left Cover  JE531-1: 920 Elliptical Tranier Right Cover

with adjustment runner wheel, 565x365, without hole 565%365, without hole
with 40x80 ellipse pipe

JE536: 928 Elliptical Tranier Left Cover JE537: 928 Elliptical Tranier Right Cover JE538: Elliptical Tranier
1075x515, with @400 film-to-video transfer 1075x515, with @400 film-to-video transfer Film-to-Video Transfer
2400

JE539: Film-to-Video Transfer JE540: Meter Pipe Cover WT003:8 Grade Tension Control
Crank Handle cap with 40x80 ellipse, 165H (1 Long 8 Short)
880 used for elliptical tranier, the wires can be customsized

62‘

XiaMen Jinen Plastic CO.,LTD. ‘



Upright Bike Series

JE447: 50 Ball Armrest Pipe End Cap JE084: New Slotted Knob JE271: T Shape Knob
250=46L,with 32 or 25.4 pipe can customsize M8 nut or screw 78 % 254, can customsize M8 or M10 screw

JE339: Horse Head Decoration Cover JE340: Goose Head Decoration Cover ~ JE535: Upringt Bike Rear Handle Cover
(Double Hole) (Single Hole)
70x58x@18 76x52x@216

b @

JE535: Upringt Bike Rear Handle Cover JE048: 37 Elastic Pin
@37xM186, length can be customized

43 4m vy

JE049: 57 Elastic Pin
857=M16, length can be customized

JE067: 60 Plum Blossom Knob JEA36: Kettle Shelf JE168:50.8 X 38 Hollow Cap
©60=p24, skin surface, length can be 125x80%80 50.8 turn 38.1, 90L
JE169: 50.8 X 38 Hollow Cap D Type JE319: 50.8 Turn 38 Inter-pipe Bushing ~ JEO12:Idler Pulley(Briquetting Pulley)

with 50D type pipe, 50.8 turn 38.1, 120L with 50.8 turn 38 circle pipe, 162L 243%35.5%25, with 1 or 2pcs 6000 bearing

63

 ENeBREREERAD

Upright Bike Series

a® ue lg

JE338: Idler Pulley JE435: |dler Pulley JE308: 200 Belt Pulley
241x29.5H, with 2pcs 6003 bearing 240%x25H, with 1 Or 2 pcs 6000 bearing 2200, with hexagon hole iron sheet, J6 belt

JE308-1:200 Belt Pulley JE350: 220 Belt Pulley JE350-1:220 Belt Pulley
©200, with 817 circle hole iron sheet, J& belt ©220, with hexagon hole iron sheet, J6 belt ©220, with 817 circle hole iron sheet, J& belt

JE310: 240 Belt Pulley JE310: 240 Belt Pulley JE029: 50 Scroll Wheel
@240, with hexagon hole iron sheet, J6 belt 2240, with @17 circle hole iron sheet, J6 belt two in one, 56x50 pipe =40

JE030: 50 Transport Wheel JE154: 50 Circle Pipe Outer Cap JE158: 50.8 12 Angle Bias Cap
three in one, with 50 or 50.8 pipe stripe, with 50 or 50.8 pipe hollow, with 50 or 50.8 circle pipe

an

JE343: L&R Triangle Outer Cap

JE272:60 12 Angle Bias Cap JE273: 60 Scroll Wheel
with 60 pipe with @60 pipe, two in one with 50x100 alien triangle pipe |

64

XiaMen Jinen Plastic CO.,LTD.



Upright Bike Series ‘-,

&b 33

JE371: L&R Rear Foot Bushing JE437: 30 Crank Handle Cap
with 50x100 alien triangle pipe with 30 crank handle hole, 668x@58xa30

JE370: L&R Front Foot Bushing
four in one, with 50x100 alien triangle pipe

00 V=

JE496: 30 Crank Handle Cap JE551: 60 Scroll Wheel JE552: 60 Adjustment Foot Pad

e65xe56x230 three in one, with @60 pipe with adjustment runner wheel, with @60 pipe

JE553: Front Adjustment Foot Bushing (L) JE554: Front Adjustment Foot Bushing (R)  JE555: Rear Adjustment Foot Bushing

with adjustment runner wheel, with adjustment runner wheel, with adjustment runner wheel,

with 40x80 ellipse pipe with 40x80 ellipse pipe with 40x80 ellipse pipe

JE530: 920 Upright Bike Left Cover JES531: 920 Upright Bike Right Cover JES532: 926 Upright Bike Left Cover
565x365, single hole 565x365, single hole 850x475, double hole

? ——
@ ——

JE540: Meter Pipe Cover WT013: 8 Grade Tension Control 1Short 8 Long

JE533: 926 Upright Bike Right Cover

850x475, double hole with 40x80 ellipse, 165H use for upright bike
2 wires, up wire and low wire, length can be customized,
65 low wire has rob
ENERERARAE

0 —— . |
@a - :

8¢ oo 4

!

>

JEO14: Moving Wheel(Wine Barrel Wheel) JEO78: Mushroom Head Knob JE080:Triangle Knob
222x6.5x@a30L 249xg13, M8 nut M8 to M10 screw rob 248x217,can customsize M8 to M16 screw
JE086: Brake Handle JE110: 12 Wire Cap JE140:30 X 60 Ellipse Cap
240xM8xM86 screw rob 214.5%@12xp4x12 with 30x60%1.5T ellipse pipe

JE154: 50 Circle Pipe Outer Cap JE158: 50.8 12 Angle Bias Cap JE162: M8 Screw Cap
stripe,with 50 or 50.8 pipe hollow, with 50 or 50.8 circle pipe opposite 13-14mm
JE183: Bearing Sleeve JE383:30 60 Short Inter-pipe Bushing JE238: 2080 Left Cover
828%25%16.5%16 3060 turn 23.5x53.5, 100L 690x285%92

JE238-1: 2080 Right Cover JE363: Air Elliptical Trainer Foot Pedal JE363-1: Air Elliptical Trainer Foot Pedal
BO0x2B5%08 350%150, hole distance 180 350x150 polar hole, hole distance 180

0 0 <3

JE403: Air Elliptical Tranier Left Foot Pedal  JE404: Elliptical Tranier Right Foot Pedal JE556: Air Elliptical Handle Cover
375x145x distance hole 180 400x135x distance hole 180

66‘

XiaMen Jinen Plastic CO.,LTD. ‘



8.2 Air Elliptical Trainer Series

¢ 80 o

JEO14: Moving Wheel(Wine Barrel Wheel)
222x6.5x030L

JE029: 50 Scroll Wheel

JEO78: Mushroom Head Knob
two in one, @56x50pipex40

2409=13H, M8 nut or M8 to M10 screw rob

JE154: 50 Circle Pipe Outer Cap
stripe,with 50 or 50.8 pipe

JE080: Triangle Knob
@48x@17 can customsize M8 to M16 screw

JE161, 162, 163: Screw Cap

with M8, M10,M12 three specifications can choose

JE158:50.8 12 Angle Bias Cap
hollow, with 50 or 50.8 circle pipe

V-1,

JE165: 32X 25 Hollow Cap
with 31.8 turn 25.4 circle pipe 75L

JE183: Bearing Sleeve
228xp25%16.5x16

i W 3

JE363: Air Elliptical Trainer Foot Pedal
350x150, hole distance 180

JE465: Air Elliptical Trainer Right Cover
700=365, without pad hole

JE363-1: Air Elliptical Trainer Foot Pedal JE464: Air Elliptical Trainer Left Cover
350150 polar hole, hole distance 180 700=365, without pad hole

& 4 &>

JE464-1: Air Elliptical Trainer Left Cover JE465-1: Air Elliptical Trainer Right Cover
with pad hole with pad hole

JE466: Air Elliptical Trainer Wheel
@500, gearwheel+powder cap
(copper cap and Nylon Cap can choose)

JE341: 255 Figure Trimmer
2255 use for air elliptical trainer, with belt and spring

WT300: Continuously Tension Control

‘67

‘IHQBHEHHQE

JE023: Small Pulley
238%6.5%815

JE033: Fixed Terminal Cap
@22x24H, two type:eB and 210

JE084: New Slotted Knob

can customsize M8 nut or screw

e

JE127: 50 Circle End Cap
with @50 circle pipe

JE158:50.8 12 Angle Bias Cap
hollow, with 50 or 50.8 circle pipe

JE233: 7008 Cover
107x60

JE031-1: Pulley Block

with hexagon hole

JJEO35: Grip 2
227x015%123L

T= OO

JE092: 22 Washers with Split
@22xp8.3x1.5T

o

JE142: 20X 40 Lean End Cap
with 20x40 square pipe

JE231:7008 Book Shelf Board
440%340%12.4

JE235: Spacer
48x40%21x06.2

o
.

JE032: Fixed Terminal Hook
024x@3x70

A A
X

JE060: 30 Adjustment Foot Pad
@30xM8 or 5/16, length can be customized

*3

JE112: Bullet Cap
withe 16 circle pipe

JE154: 50 Circle Pipe Quter Cap
stripe,with 50 or 50.8 pipe

JE232: 7008 Foot Pedal
380%255%33

&<

JE236: Support Pad
250%08.5x41L

68

XiaMen Jinen Plastic CO.,LTD.



